3. Determine the force in each member of the truss and state if the members are in tension or compression.

e = My-0 - (:c (3) -4 -5(9
I 7. - BEY
S My-0 -5()+2305) + g ()
Fg_ﬁ'l‘f Kl/
fﬂy =0 -Fay
=N Fo=O< Fa-Fo sin(§902°) %@

Fye==16.3246 KWV

Zﬁﬁo =~fep ’Fy&fﬂ{s?ﬁb ')
Fc:l 2 d’% H K/V

EFerO s Foeibots) - sin(7157
Fre ==8.354 K

ZF;_:O R S (3’7*%7+ bae 05(7/-57j %

Fee= 63 KV
Fec  Feo Zfy-0- }F:F sm(qs)?f;i kv %g
RE/k
= SO for -fac - Feesifist] 20
Fee = |H4.6 o
F&r
o= c - in 553 F
e FZ = Fe- st zfg“ (o) £ =heo- FiiF:éFaF 5246[5)
B .
Q@% FeF Z@;O F;;LH{/V Fer - f»s 514(45 FAFF Fer = Fe-0= E’:STL[E;)L—FIQI;/

ZF 20 = Fe s»,('{S)-EK/V* Fae sin(l (% 43 )
Fls = Kt/

S Fr-O- 565!71@5)*‘ FaF +Fae c_asdi.‘l.%)
Fan 194

Mech hw Page 1



